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The nth term of a sequence is givenby T, = 3n — 4.
(i) Write down the first three terms of the sequence and also T,,.
(i) Explain why the sequence is linear.



Exercise 18.3

rule .
1. The nth terms of some sequences are given.

Write out the first four terms of each sequence.
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Exercise 18.3

1. The nth terms of some sequences are given.
Write out the first four terms of each sequence.

(iv) T,=2n+5 7,4,11,13
= 20045 =3 s g A
11 = 2(2) +5 =49
13 = 2(3) 45 =\

Tu= 24) £5=1

(v) I,=5n—4

N = 5(1) -4 = ‘\iﬂgijlrl'le
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1, = 6(L)-u=b6 +S £S5 &S
(- 5(3) -u= 1\l
fu= 6) -u=16

(vi) T,=7—2n
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2. Write out the first three terms of these sequences defined by the given nth term:

) T.=1-3n Ti=1~-3L1) = -2

T= |- 3() = ..2-3.-;.;-:}3:
I
|- 4 = -¥ -3 -3
1
i) T,=m+1 T =0) 4
L+l =2
To = ()" +1 3';}552'70 |
Ut =3 +3 +§ Fu
Ty = (3) %\ \'-]f,,
A4\ =10
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3. Thenthtermofasequenceis T,=2n+ 3. Rude .

(i) Write down the first five terms of the sequence.
(i) Find T, and T, .

A = 2 +3= 5 oo foooz?: 43
{9 = a(z) +3= 1 Te0 = U3

T3= 2(3)+t3> =F {00 = 2(100)+3
Ty = a(4) +3= 1 Ao ¥3

- =~ |5 =203
s = Q) +5 Tioo = 203



4. If T,=2n— 6,showthat T, + T. = 0.
e {r

/n: 200) -6 = -4
Ts=a(s)-6=&
T -{-’(S'

~444=0



5. Explain why each of these sequences is linear:

(i) 3,8,13,18, ... (i) 18,14,10,6, ...
AA

+5 4549
Lorst A
15
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\é\\ 6. Investigate whether each of these sequences is linear: Pﬂ 363
i} —8 —10 =12 —14, ... ) 1.3.9.27. ...
(m) 20,10,5, 2%, (v) 0.1,0.3,0.5,0.7, ...



7. The nth terms of six different sequences are:

?7n—-2| ?1o—n ?%n—-3| ?n2+1

(i) Calculate the first four terms of each sequence.

(i) Calculate the 20th term of each sequence.
(ili) Which of these sequences are linear?
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\e\\o 8. The nth term of a sequenceis 3n + 2.

(i) Write down the first six terms of the sequence.
(ii) Calculate the 100th term.



9. Linear sequences can be found on this grid.
Two are shown on the diagram.

(i) Find seven more linear sequences that
have four terms or more.

Write down each sequence as an increasing
sequence and find its next term.




(i) The expressions below give the nth terms
of these sequences.

Match each expression to its sequence.
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Answers

Exercise 18.3

- 1 24.6.8 (i) 4,7,10,13
() 1,5,9,13 (v) 7,9, 11,13
(v) 1,6,11, 16 (vi) 5,3,1, —1

2. (1) —2, —5, —8 (i1) 2, 5,10
(ii) 3, 5 1

3. ()5 7,9,11,13 (i) 43, 203

5. As the difference between the terms Is a
constant

6. (i) Yes (1) No

(111) No (Iv) Yes



Answers

7. (1) A-5,12,19, 26
B-98, 7,6
C-—25 —2,—15 —1
D-2,5 10,17
E - 60, 30, 20, 15
F-2,4,8, 16

(1) A- 138
B-—10
C-7
D - 401
E-3
F — 1048576

() A, B, C are linear

8. (1)5,8 11, 14,17, 20 (1) 302



